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1) Fill in the blank with the correct option:
is used to measure horizontal and _ ——

vertical angles. e ¥ ferg faT st 8

A) Prism A) fieR

B) Compass B) &aTH

C) Theodolite 9 CEISEIES ¢
) ESLEIE]

D) Plum bob

2) Where should you implement the steel 9) s ffTer ferhres ey i e HrpreAe A

reinforcement in a singly reinforced beam? Fat HCIT ATBY?
A) Neutral zone A) g ST
B) Compressive zone B) wEIfEdT iG]
C) Tensile zone C)darsa S &
D) Both tensile and compressive zones D) ¥aTser A FFfeAd S ElGll
3) Fill in the blank(s) with the correct answer: 3) Tt 9 & A R wra Wil
___ EDMs can be used up to arange of 100km while ___EDM T ST 100 Fret i efte ok fowarT S Fehat
____type s used with a range up to 3km. Tt T T ST 3 Rt aen A e & A
A) Infrared, microwave o STt &) ‘
B) Infrared, visible range A) FHIE, ATZHET
C) Visible range, ultraviolet B) gwieE, fafsraet o
D) Microwave, infrared C) fafvme I, Fregramase
D) ATZhAE, TS

4 i .
) Which among the following is a constituent of a 4) Fraferfa # & 7 T st 32 F1 7eF §?

good brick?

A) Alumina A) ﬁﬁ:ﬁ
B) Steel B) &«
C) Gold C) e
D) Copper D) F
Zyrem
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5) Fill in the blank with the correct option:

5) Tt et & s e i g AR :
Mansard Truss is a combination of —__and AVEE I 3T TH T TE G g
trusses.
A) T &, FiFT T
A) Purlin roof, Queen post B) wiree T T, Tt die T
B) Sloped king post, Sloped queen post C) &, fivr qie
C) Strutting, King post D) f&T 9, it T
D) King post, Queen post
6) Fill in the blank with the correct option: 6) W fare & e warrer 1 7fF AfSr -
Fine aggregate can pass through I.S. sieve of WA T i 1.S =t (Ffia) ¥ g st
LETI]
A) 13 mm A) 13 farsit
B) 10 mm B) 10 firsft
C)4.75 mm C) 4.75 foett
D) 15 mm D) 15 fiwit

7) You have a plain and reinforced concrete footing 7) 3T &Y S 9% T e i REwRE Fefie g
leaning on the ground. Which of the following T@T g 21 BT & B = Aers(t) F o sy B
limitations should you maintain for the thickness(t) at & & I &t a7 ST Tawt =TRT?

the edge of the footing? A) T >= 35 ¥4t
A) t>=35cm B) T >= 40 &+t
B) t >= 40 cm C) T >= 15t
C)t>=15cm D) T >= 25 &t
D)t>=25cm
Page 3 of 144 : —
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o —

e following foundations is ado

8) Which of th
ds to a great depth?

where the loosé soil exten

A) Raft foundation
B) Grillage footing
C) Inverted arch footing
D) Pile foundation

pted g) wigt dieft fagt =iga

s @ el g & AR
ﬁaﬁﬁﬁﬁﬁﬁ#ﬁﬁ(ﬁaﬁ)ﬁmw@
A) T HESAT

B) et BT

C) Fage Ad FET

D) RIFSRICENE]

9) Fill in the blank with the correct answer.

Velocity correction is applied

A) atmospheric errors
B) instrument operation errors

C) standardization errors arising in the instrument

D) satellite error

to account for .

o) <t o< AT R ET
AT U (AR FLFR) _
4T Bl ‘

¥ forg @y fa

A) et R
B) SRRV AT FfeAT
C)Wﬁmﬁ@%aﬁﬁmﬁw

D) Swrg e (Hewmse T)

10) Match the name of phenomenon with their

respective definitions:

a. Coagulation 1. Allowing remaining particles

to settle

b. Disinfection
particles suspended in the water to

2. Chemicals are added that

cause small
clump together
c. Flocculation

peroxide etc are used to remove bacteria
4. Mixes the water with large

3. Chlcrine, ozone, hydrogen

d. Sedimentation
paddles so that clump particles can be brought

together into larger clumps
A) a-1, b-2, ¢-3, d-4

B) a-2, b-3, c-4, d-1
C)a-2,b-3, c-1,d-4

D) a-3, b-2, c-4, d-1

T ST B

10)$"raw$rfam»ﬁu
3. SETAE (FIGALAT)
(@) AT

b. Freropee (asther) 2. T feTHe Tt
ﬁﬁdﬁﬁ@%aﬁvﬁaﬁmﬁwas‘?’f%l

C. FAFRIALTT 3. AR R A
¥ forg =L, aﬁaﬁ?,g@ﬂ?aﬂﬂﬁwﬁwwﬁw

1. qw FOT A ST

. s (Aetizer) 4. A A A F
ere forrrar & e & 1 it e T A A T
TeT & AT ST ED S |

A) a-1, b-2, ¢-3, d-4
B) a-2, b-3, ¢4, d-1
C) a-2, b-3, c-1,d-4
D) a-3, b-2, c-4, d-1
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11) Match the following ratios 11) dehte ¥ Frerfer sgaTat ($ie : Je : wfitew) &1
(cement:sand:aggregates) of concrete with their T ST g AT

respective uses:

a. 1:2:2 1. W Sar<t, Ha F g el F R

a. 1:2:2 1. For heavy walls, foundation b. 1:2:3 2. RCC T aTaT=a Frd 4 Hifeat, €,
footings, etc. HiAT, T

b. 1:2:3 2. General work of RCC such as c. 1:2:4 3. it i SR, T, HE e ®
stairs, beams, columns, etc. o

c. 1:2:4 3. For water tanks, bridges, sewers, d. 1:5:10 4, W <fre e RCC e of< welt
etc. ' g F Y RCC 3=«

d. 1:5:10 4. For heavy loaded RCC columns

and RCC arches of long spans A) a-4, b-3, ¢c-1, d-2

B) a-4, b-1, c-2, d-3
C) a-1, b-2, ¢-3, d-4
D) a-4, b-3, ¢-2, d-1

A) a-4, b-3, c-1, d-2
B) a-4, b-1, c-2, d-3
C) a-1, b-2, ¢-3, d-4
D) a-4, b-3, c-2, d-1

Page 5 of 144
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12) fr T e R e #%, 9 ot i e Al

ge, identify the one that is
sTfRrTer &7 § grest X () ¥ a1 8l

12) Consider the given ima
composed mostly of quartz sand.

13)mnﬁﬂ(w‘rrﬁzt)$ri%awm%aﬁ,mmﬁ
gﬁ:ﬁﬁ%qgﬁaﬂtmﬁgaﬂﬁméz-wm
%lﬁ@ﬁm%%www%?
A)ﬁ-mﬁaﬁﬁ%maﬁﬁwﬁww

13) After analyzing a flow meter, you observe that it
has enough straight-pipe lengths before and after the
meter. What is the major reason behind these pipe

lengths?

A) Minimi . : Sap i IEY
) Minimize choking under high-flow conditions B) gl ¥ qE I TH qMEH e (

B - . .
) Dampen pipe vibrations generated near elbows ATEAL)

C) Ampli -
D) mplify the coriolis effect for better rangeability ~ C) e Wit & forg PRGN THIE HF T8l
S g *
) Stabilize the flow profile within the flowmeter D) Wit 3 S{aT Al STeHTEet fRUT (TreeTES) FAT

Page 6 of 144
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14) Fill in the blank with the correct option:

is the term used to define a brick cut in
such a manner that its one long face remains uncut

A) Quoins
B) Templates
C) Coping
D) Closer

14) Tt e & e =y Y o R

T faw e @ afonfia #= & fog
SEAHTS 3T ST 1T 91e% & T S 7 U a< AT
% T e wgar )

A) Figw
B) Tvueiew
C) =ifdr
D) TSI

15) Match the following, in context of the leveling

staff.

a. Self-reading staff 1. The smallest division is 5
mm. its length is about 3 metres.

b. Solid Staff 2. It has a moving target
against which readings are taken by the staff man.
The sliding target comes along with the vernier.

c. Telescopic Staff 3. The readings are always
taken from the telescope hence appear inverted.
Therefore, readings are taken from downwards.

d. Target staff 4. It has three telescopic
lengths of 1.5, 1.5, and 2 meters when stretched out

fully. Normally, its total length is 5 metres

A) a-1, b-3, c4, d-2
B) a-3, b-1, c-4, d-2
C) a-3, b-1, c-2, d4
D) a-3, b4, c-1, d-2

15) SrfeiT w=rw F "ot & e # g R

a. vHF-aRT®=IE 1. wad Sier R 5 el &
TEH! FATS AT 3 Wi B
b. Fifere =6 2. 59T UF Tiashie wewr g Rraes

e =6 A g G o ot &1 =i e
i< & ATy Sar R

c.IEIm®E 3. OfSw ghvem Moy ¥ oft ol
g THfay 7 Sear Rard 3 f) wwhw, AR i Y
forarT e &1 |

d. TCIE ©H 4. 59 30 T T8 ¥ e srar
&, T T 1 gl s (it o) 1.5, 1.5 3
2ﬁaglmﬂtwmﬁﬁaﬁ5:ﬁaﬁél

A) a-1, b-3, c-4, d-2
B) a-3, b-1, c-4, d-2
C) a-3, b-1, ¢c-2, d-4
D) a-3, b-4, c-1, d-2

B
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16) Fill in the blank with the correct option: 16) TEY faweT ¥ s e & g i
refer to the dispersion of solid or liquid 2aT § g S (ATEAIERIT ATew) ¥ 3
particles of microscopic size in the air. , T G it 36 e i dQAd FT g
A) Aerosols A) T T
B) Halogens B) g
C) Radioactive compound C) YRt =
D) Photochemical smog D) HreY A T (49

17) Identify the option that correctly completes the 17) S& e $ T FE WA AT frmr T FAT AR

below statement: & & T T &
Horizontal distances obtained by tacheometric ST sraaAl el I AR g #@ |

observations -

A) mgm(m’mmm)ﬁmm@ﬁg
A) require slope correction. B) T g (I ) T AELEHAT e
B) require pull correction C) e i I T £ sraeaFaT & 2T
C) do not require slope and pull correction D) & 3 g gUTC £ sraeaFar gt S

D) require pull and slope correction

18) In the process of metallizing, which metal is us

s in Indian mﬁmﬁﬁamwmmm@

in present practice of painting of bridge

Railways? A) ST

A) Zinc B) fiaer

B) Bronze C) qisT

C) Copper D) et

D) Iron

Page 8 of 144 e
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19) What would be the total pressure on a

submerged block making an angle O with the fluid
surface?

(where A is area submerged and x is gauge pressure

on an elemental areg (vh*) and h* are the distance of

the centroid of the area from the free surface of the
liquid)

A) XA

B) xA sinO

C) x sinO/A
D) Ax/sinO

19) (where A is area submerged and x is gauge
pressure on an elemental area (yh *))

T | AT HIT O T AT 0T (qFHE) =T
I T T SATT FE

(8t A ser e & ol x v ddrdEe i 97 I =T
g(yhdrh R gwaas T s F=s Fr T )
A) xA

B) xA sinO

C) x sinO/A

D) Ax/sinO

20) Arrange the following steps in ascending order of
- removal of shuttering:

a- Shuttering forming soffit of slab
b- Shuttering forming soffit of beam, girders

c- Shuttering forming the vertical faces of walls

20) srefr gem & forw At s FradEr #w &
ZaRTq HL

a- TG T |ifthe T JTeAT TFaT

b- =7, FISH & qifthe T I aefar

c- ST & Featex %y & forg erefar

d- Heavily loaded shuttering d - stiaTiRa sefar

A)a,b,c,d A) a, b, c,d

B)d,c, b, a B)d,c, b, a

C)c,d, b, a C)c,d,b,a

D)c, a, b, d D)c,a, b, d

21) Fill in the blank with the correct option: 21) wet fasew & e e § fF Hifdrg

is prevented by the shear RCC # firx fmereie gy AFT SATaT {1
reinforcement in RCC.
‘ A) FET

A) Caving B) T¥f&T

B) Tempering C) gutgifeT

C) Superheating D) REENEIES

D) Diagonal tension

Tage 9 of 144
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22) wr Yaer wer ¥ R ff @R i) &

stepsin ascending order of

22) Arrange the following . | :
radiation method of plane table surveying e st @ et w9 & ore ey ke
a- Select a point “0" s0 that all points to be located a- T& fdg "O" T 94 ¢ qrfer fead i arer ot fy
are visible from it. o et ¥ g
b-llllwﬁ?ﬁa,b,cmdﬁﬁm‘{m .

b- Join the points a, b, ¢ and d on the paper.
c- Mark the direction of the magnetic meridian
d- Centering the alidade on “O" BISECT the objects

of traverse A, B, C and D.
e- Set up the table at «“0”, level it, select a point “O”

on the sheet so that it is exactly over station “O” on

c- gy AR i e &t Frfeqa 4

d- TRRe 0" WA F gr ad A, B, C At DR
T #1 BISECT &<l

o- Yo 7Y "O" W ¥ F, T4 A9 7, e WTF Ay
"O" T AT FE qTFF T ST qT "O" AT F F TR

the ground. gl
f. Measure the distances OA, OB, OC and OD and f- gt OA, OB, OC 3T OD ATY A #M: a, b, € sk
plotted to convenient scale to locate a, b, ¢ and d ST FE ¥ o gierer AT 0 wie w
respectively
A)a,ecdfDb
A)a,e.cdf b B)a,ecdb,f -
B)a,ecdb,f C)a, e d,cf,b
C)a, e d,cfb D)a,e,c f,db
D)a,ecf,db
23) Which among the following modes of 23) & & # (DPC) £ o F g Ao
Al & & Fi @ Rfradre?

measurement is true for calculating Damp Proof

Course (DPC)?

A) ltis typically given in cubic meter

A)vgmﬂfwmﬁaﬁﬁmm%

B)Masﬁ@gﬁ%wwmglﬁmﬁ
i (raa), afen (FRAfR), ST (@R -

B) It is measured as per drawing stating thickness.

The description must include framework, a2 e ST AR
finishing, curing, etc. C) aH ST +f ertfirer §
D) z# fAfde amnft i 7T 5

C) It also includes the grouting

D) It has the Volume of the material as specified

Page 10 of 144
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24) Consider the given building types:

Identify the one(s) that can be estimated using the
centeriine method.

i) Hexagonal
i) Circular
i) Octagonal
A)iandii
B) i and iii
C) ii and iii

D) i, ii and iii

24) R w1y fafeT argmm = R F L

I HY AT L FreehT oot e L@T TE T (HUE AT
AT FT ITFIT eh FohaT 17 FFaT &

i) §FETTA (SThrofte)

i) T (FATRR)

i) 3ATFTTAT (STEehIvii)

A) i s

B) i 3fi iii

C) i T jii

D) i, ii 3T iii .

25) Consider a T-beam structure for light loading of
continuos beams. What is the range of the ratio
between its total depth(d) with its total span(s)?

A) 1/200 to 1/240

B) 1/100 to 1/150
C) 1/2 to 1/4
D) 1/15 to 1/20

25) iweRgfed fiwm % gew @S & forg T-a q
qx =T ) 3T Fe TR (D) R TR g A F
= 3 ST Y T T F+W

A) 1/200 & 1/240

B) 1/120 ¥1/150

C) /2% 1/4

D) 1/15 & 1/20

26) A soil layer of depth H is divided into sub layer of 26) fgr it Txa (AT WAX) & YerHe it TUAT HT AT
thickness 't' to ease out the calculation of settlement ST+ % fog, TS H $t ws Mg & e & 7 't
of soil layer. You wish to calculate the final settlement I7 9%t (Fr-srae) & iR fmm s §1 s s waeht

by performing some operations on each thin layer.

SY-3AT UT T AR Hlh HIEAT Jeoi ¥ 07

Which of the following option will help you to find the FTAT JTgd & fA% & & % &7 fasew, W ¥ § Yeeiie

total settlement of the layer?
A) The difference of individual settlements of the

various thin layers
B) The square of individual settlements of the

various thin layers
C) The product of individual settlements of the

various thin layers
D) The sum of individual settiements of the various

thin layers

T T FA § TEHAAT TG HGT2?

A) WWW%W—W(W)W\ o
CARSRES

B) faferer wweft wet 3 sterw-srer (fRfargere) et
T T

C) Fafeer wareft et ¥ srerr-arer (2R Fagere)
HETHZH T TITH

D) ﬁﬁqqﬂ?ﬁ'qﬁﬁiﬁm.m(ﬁﬁw)
HIETHTH HT F0T

“Page 11 of 144
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27) Match the soil class with their respective 27) VOB/C, DIN 18300(DIN, 2009) & ITFHTL a1 73
/C, DIN 18300(DIN, (e ) Fr I gatoa @ F 9 gRiT ¢

descriptions according to VOB

2009):
a.FE7 1. gars ¥ forg weaw wiew
a.Class 7 1. Moderately difficult to excavate b. & 4 2. FgT i 7a a<g i O i gers §
b. Class 4 2. Easy to excavate rock and AT _ '
similar soils c.FM 1 3. I Y GaTs FAT HioA
c. Class 1 3. Hard to excavate rock d.F=mE6 4. UL g
d. Class 6 4. Topsoil A) a-3, b-4, c-1, d-2
A) a-3, b-4, c-1, d-2 B) a-3, b-1, c-4, d-2
B) a-3, b-1, c-4, d-2 C) a-2, b-4, c-1, d-3
0) 825 bt 0-1,05 D) a-2, b-1, c-4, d-3

D) a-2, b-1, c-4, d-3

28) Fill in the blank with the correct option: 28) gt faser & s v i g hifvg
The process to remove rust, mill scale (oxidization) FroedF (X 0 RIe) % I A9 T F IuEnT q 5, A
and old paints with the use of high velocity impact of & (sifFfis<oT) X R4 J FT ge™ i afkar F1

abrasives (sand & grit) is known as : F €Y F T AT B
A) Surface washing 3 A) TTHE ATFAT

B) Blast cleaning B) sTEE FRAT T

C) Manual hand cleaning C) A g€ Tt

D) Flame cleaning D) T FRATET

29) Which of the following valves should you use 29) & 39 JTgd & f T+ % warg &t e Rada faam

when you want the flow of water to be in one direction ¥ T &< TF € fRert & 2, 7 srwsht fer & & ey arear

considering, it does not flow in the reverse direction EFTGW?I’*TWT?!T%Q’?
as well?

A) 39 =i atea
A) Pressure relief valve B) =W ATeq
B) Sluice valve C) oy qre
Lod
C) Reflux valve D) Tax R=fiw
qreq

D) Air relief valve

Page 12 of 144
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30) Match the column, 30) Fers %
. CAGEE iﬁ?ﬂ”ﬂ ]

a. Detailed estimate

1. Estimate of a. R¥w wefidie 1. whirar % d1ow afafes wraf 1

additional works during the process

A (TRENT)
b. Supplementary estimate 2. Prepared for b, aeefiiifl wedide 2. waTwT @Y (i XeH) W
approx. rates initially ST A e R Tar
c. Revised estimate 3. Includes details and c. Reevs Uit 3. g e 1 e i T anfirer
cost of everything =
d. Rough estimate 4. Prepared when the d. T Tedie 4, 0T 5% ¥ AT g I8 AT
costs exceed more than 5% ERIKIET

A) a-2, b-1, c-4, d-3
B) a-3, b-4, c-1, d-2

A) a-2, b-1, c-4, d-3
B) a-3, b-4, c-1, d-2
C) a-3, b-1, c-4, d-2 ,
D) a-1, b-3, c-4, d-2

C) a-3, b-1, c-4, d-2
D) a-1, b-3, c-4, d-2

31) Fill in the biank with the correct option: 31) T e & fow e 1 gRE AT
is a preliminary inspection of the area to Rroeiemze G § aderor & forg & &
survey in theodolite traversing. gRf e (R $8eem) g1
A) Selection and marking of stations A) TSI T AT 3T e (ATTRT)
B) Measurement of traverse legs B) &€ &7 &7 979
C) Computation C) o=t
D) Reconnaissance D) ATEE=

32) Out of the following options, what will represent 32) Fafita AR i< g AR F fi=r F e Fror
the horizontal angle between magnetic meridian and 1 fRsferfed & & foer ferereT grer zertar s 22

true meridian? A) T Fior (Rereer drer)
A) Deflection angle B) wfFwferd HIv (7RIS Wrer)
B) Included angle C) 7w (Rfaeriar)

C) Declination D) AfRSFA IV (TR ren)

D) Excluded angle

“Page 13 of 144
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33) Match the following air pollutants with their 33) fraforfR arg sgwt Ft 39+ @1 & AT Hify

respective sources.

Pesticides, pints,

a. Oxides of sulphur 1.

laboratory.

b. Mercury
wastewater treatment, oil refineries, etc.
3. Glass and ceramics,

2. Petroleum industry,

c. Hydrogen sulphate

cement factories, aluminium industry, fertilizer
industry etc.
d. Fluorides 4. Power house, smelters,

coal and other fossil fuel combustion, etc.
A) a-4, b-1, c-2, d-3
B) a-1, b-4, c-2, d-3
C) a-4, b-1, c-3, d-2
D) a-1, b-4, c-3, d-2

a. GohT & AFee 1. Fearers, fie, swarremem

b. T 2. YEITors ST, 9w Ser
IYAR, a7 Rwrea<t amfz

C. ZIESIN Tv%he 3. @i o =+ @A it i,

T F@M, TeHRas ST, Sa3F ST el
d. ®IRTEE 4. T TS, THeEK, HIFaT 3T

= SETeH SUT w1 TG, Al

A) a-4, b-1, ¢c-2, d-3
B) a-1, b-4, ¢c-2, d-3
C) a-4, b-1, ¢-3, d-2
D) a-1, b-4, ¢-3, d-2

34) A single room of size 5m x 6m enclosed by 20cm
thick wall has to be constructed. The required

34) 20 et e ST F Y 5 #ex x 6 Hex FTFR F
e FHX T AT T ST &1 e i A e (@)
aefY =T o 80 A+ft Y &) S (THEEHAAA) H

foundation trench is 60 cm wide and 80 cm deep. 60

Find the quantity of earthwork in excavation. srefarsh T [T ATq gl
A) 120.5 cu.m. A) 120.5 FHIET

B) 10.94 cu. m. B) 10.94 ==HieT

C) 109.4 cu. m. C) 109.4 =TT

D) 12.05 cu. m. D) 12.05 sHIeX

Page 14 of 144
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35) Calculate the water required for the concrete mix 35) 3wt i ¥ g saea Trt (fer H) =t ToET
(in Gallon) if the water cement ratio is 0.6 litres/kg F% afX Tt Hiiiz srgaTe 0.6 exikg & T 70 et

and 70 kg cement has been added. e fAemar T &l

1 US gallon = 3.78 litres 1 US e = 3.78 e
A) 11.66 A) 11.09

B) 10.50 B) 10.5

C) 9.70 C) 9.7

D) 13.33 D) 13.3

36) Which of the following term is NOT related to 36) Fsforie & & = a7 7= THATLH T  gatad

tacheometric surveying? T2
A) Multiplying and additive constants A) Multiplying and additive constants
B) Subtense bar ' TUTER(AfREwTTT) S A (TRfe FieC)
C) Stadia method B) T 91X -
D) Radiation method of surveying C) wfewr A
D) |equT 7 YR T HAE

37) Hydraulic lifts best depict the application of which 37) grasifers forge Rufofee # & s st &t

‘of the following? FATH €T & I9qTH &2
A) Hooke's law A) & =T [{aw
B) Pascal’s law B) &Rt %7 g
C) Sombre's law C) |1 =7 f{aw
D) Len's law D) =i+ =7 faw

38) Calculate the capitalized value of a property if it 38) fft ™y % it o (Ffeeess ) it o
fetches a net annual income of % 15 hundred and the % TfX 7g 15 | ¥9 1 [ ANTUF AT ITH FTaT § 37

highest prevailing rate of interest is 5%. SYAH TA T ST 7 5% 2
A) % 10,000 A) 10,000 T3

B) ¥ 15000 B) 15000 Fq3

C) % 40,000 C) 40,000 TT%

D) % 30,000 D) 30,000 &9

- Page 150f 144
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39) Which of the following lines connect

state with liquid and solid state mixture?

A) Solidus
B) Liquidus
C) Solvus
D) Tie line

s the liquid 39) fFwrferfem & & -t Tar s FaeT (Frfde w5

7 S Srer syt (Rifore w2) e & et 82
A) Hifered
B) ferferesr
C) aiwae

| D) =€ wIT&

40) Arrange the procedure steps in ascending order 40) TF T # FfisT AfRE F AAF werer % forg g
for a standard test of compression strength of a brick ST FT AR HH F AT ey |

a- Test the sample by keeping the mortar filling face
upwards and flat face horizontal in compression
testing machine and note down the crushing load.

b- The bricks are stored under damp jute bags for 24
hours followed by immersion in clean water for 3 days
¢c- The frogs and all the voids in the bed face are filled
with cement mortar 1:1 (1 cement, (1 clean coarse
sand of grade 3mm and down).

d- Then remove the specimens and drain out any

surplus moisture at room temperature.

a- drerer 2T el F Wi FTeRT e T FIC AT AT
aﬂt.qﬁz%&ﬁgﬁwﬁﬁwmﬁmﬁaﬂw
AT Wre &Y Fie

b- &3} i 24 ¥ ¥ Fore 7 g ¥ et 3 i<t T S
g‘sﬁtmmaﬁ:ﬁ%mmmﬁgﬁwmgn
c-mhaﬂtaﬁﬁ%%g%ﬁmﬂﬁf%ﬁﬁeﬁ%ﬂzhﬂ (1
e, (1Wnﬁ%iﬁ,a33ﬁwﬁeﬁ1:ﬁ%aﬁr)@rﬁn
d-ﬁnw@ﬁﬁmé’sﬂrm%mﬂﬁaﬁsﬁ
ffe 7t @1 A € ‘
e-ézﬁ%:rga’fa?rmﬁ%mm%%mwesocﬁ .

e- The bricks specimens are immersed in water at 290C) 9T 9TT # g STar 2l
room temperature (250C to 290C) for 24 hours.
A)a,b,cde
A)a,b,cde B)e,d,b.ca
B)e,d, b, c,a C)e,d,c, b, a
C)e,d,c,b,a D)e,c, d, b, a
D)e,c,d, b, a
Page 16 of 144 —
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41) Fill in the blank with the correct option: 41) Tgt T & fer e ft i S

Iregular projections appear on the body of timber # @ # =re (sf) % T et (Rom) & X W
because of shock at younger age is known as sfrfrg weqor (FHEE TSEE) _ FEH
—— ST ST

A) Callus A) Fierer

B) Coarse grain B) #14 I

C) Foxiness C) B

D) Burls D) awd

42) ldentify the soil that gets accumulated at its place 42) I 2t &7 TE=T7 HX ST I G T (A T) 9

of origin only. & ST (THRIE) oY Sl 2

A) Glacial soil A) e g

B) Residual soil B) XfRrewer At :
C) Transported soil C) graares gt

D) Aeolian soil D) wstiferas gt

43) In context with plane table surveying system, 43) W e HALWT YUMT=T F q=f & oo awa
which method is being expressed by the following m%@rﬁ%ﬁﬁ%m@@

diagram? Ar.., lf

A.\ 9! ,"' \:;; / ‘E

;o ! bt

/ | - a
G
A) e f&fy

A) Radiation method HERBECEREICT
B) Open traverse method C) &tise daw f[{fy
C) Closed traverse method D) Sed=ae fafyr .
D) Intersection method - |

Page 17 of 144
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t convenient and 44) Rersli Fr TAA AT (STAHE LN gty
¢ directions ( STEFIH) (Wﬁﬁﬁﬂﬁﬂ)%mﬁ-ﬁﬁﬁqﬁﬁm

44) Which of the following is the mos
putation O

ble tool for the direct com

orta
iF.,e horizontal angles)? g7 gad giagrsTh o FrEeer ITHLT 87
A) Prismatic compass A) freafes T | 4
B) Sextant S GELEE]
C) Surveyor's COMpass C) g3a€ HuTH
D) Y dae

D) Dumpy level

45) What absorbent i used to determine water 45) IS: 9720 (ST 1) - 1973 & FTAT fargt & art
content in soil as per IS: 2720 (Part Il) — 19737 ap fatha w3 & frg & ST FT STANT T

A) Potassium carbonate SILEY
B) Potassium acetate A) Tt FrEAE A
C) Calcium carbide B) qifaraw wHiee
D) Potassium citrate C) Ffeara® ENCEC
D) Trforw ATRge

46) Choose the correct order of materials to fill in the 46) foen T HT A & TorT gt (AeREwH) T ael T

blanks: T,
According to Engineering science, particles with shfeafar B ¥ srqaTe, 0.002 ﬁﬁﬁ@%mmﬁ
diameter smaller than 0.002 mm aré termed as Ft T gl Srar = st 0.002 3T 0.006
while those with diameter between Foft 3 oy T AT O A << 0.006 3 2
fareft % 1= AT F R 2T ST &1 3T 2

0.002 and 0.006 mm are called . Those
and Fopeft & arferes ST TSl O A gl ST &

between 0.006 and 2mm are called
particles with diameter more than 2 mm are termed

as : A) T (Rree), FEt (), awﬁv(aa?r), @ (#)

e B)ﬁ@(a%),m(ﬁa),iﬂ(ﬁ?),mﬁ(m) 7
) Silt, clay, gravel, sand ¢) = (free), gt (), X9 (8% qordt (T

B) Clay, silt, sand, gravel D) fagt () i;.r @) :ﬁ(%——c—;' asra‘;aaﬂ;

C) Silt, clay, sand, gravel
D) Clay, sand, silt, gravel

Page 18 of 144
I
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47') Fill in the blank with the correct option: 47) & faerer § fiew = &7 g FiivC

Prismatic compass is mainly used ) freeig s gera: F forg s R stTar

22

A) to measure horizontal angle to measure vertical
angle to measure slope distance. A) gar Y gl (=i fRw) #r 79 F forg, St

B) to set out right angle from a survey line. 0T AT 3 forg, A v AT F

C) to find the bearing of traversing to find included B) T FaeTT X@T & Fwe T Feffa 0 & foral
angles. C) grifirer i (SRR UAed) d AT F & fog

D)to mark the position of stations to sight the SR & GATGT T ATK F % forg)
stations to range straight lines. D) &9t # e ¥ forg, waAt i Rt =1 e

Fr ¥ for, diefi et A i (&) 7 F o

48) Match the following, in the context of surveying 48) I TaeTTT & Ha+ ¥ Frmferaa #r gafaa fifem

chains. a. Afew = 1. oaTs 66 e & i g@# 100 fiF & <
T &9 & S 7T 6 forg S fg s € T 10

a. Metric chain 1. Length is 66 feet and has =i 37 1 Tehe ST gl

100 links Widely used for land measurement as 10 b. g¥E AT 2. waTS 100 Hie & & 5@ 100 & )

square chains make 1 acre. £ 10 e 9 Fae & &1 WY SIcE!

b. Surveyor’s chain 2. Length is 100 feet and has c. shfad 9 3. wars 33 e ¢ i TaH 16 i 8

100 links. Brass tags are installed at every 10 feet. d. ¥ A 4. 5, 10, 20 i< 30 *Hiex Fi =g |

c. Engineer’s chain 3. Length is 33 feet and has 16 Suerse &, ST =T &7 T STATT 3T ST 2

links.
d. Revenue chain 4. Widely used and available
in lengths of 5, 10, 20, and 30 meters A) a-1, b-4, c-2, d-3
B) a-4, b-1, ¢-3, d-2
C) a-4, b-1,¢-2,d-3
A) a-1, b-4, c-2, d-3 D) a-2, b-1, o4, d-3 .

B) a-4, b-1, ¢-3, d-2
C) a-4, b-1, ¢-2, d-3
D) a-2, b-1, c-4, d-3

L ——
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49) You have to construct a building underwater. 49) ST Tt ¥ sa qF WA F AT FTT §, dy
Identify the kind of lime that should be used in such TREYY ¥ frg WX ¥ TN (ATEH) HT ST BT Sy

a scenario. RT, T qE=T
A) Raw Lime A) <t ATEH

B) Hydraulic Lime B) grasifors @Ted

C) Quick Lime C) faper wrgw

D) Salt Lime D) Hive wTEH

50) Heavy loaded R.C.C columns and R.C.C arches 50) W we arr s Hier o w9 o &
of long spans uses mortar composing of cement, s Y. Argre 3 Hieft § e, X ok wftite F famor
sand & aggregate in which of the following ratios? =T faw srgaTT # YT AT R?

A) 1:2:2 A) 1:2:2
B) 1:4:8 B) 1:4:8
C) 1:5:10 C) 1:5:10
D) 1:6:12 D) 1:6:12

51) Identify the type of roof from the image shown 51)Fﬁ%ﬁmqwﬁ3rﬁ€ﬁr(w)%mﬁwﬁ:

below:

-
A) fr qiee %
A) King post roof B) EFH:[ T
- C) FIA FIIT §F
B) Purlin roof
D) FF 41

C) Couple Close roof

D) Queen post roof

Page 20 of 144
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52) Fill in the blank with the correct option:
Typically,

A) 800 kg/m?
B) 1500 kg/m3
C) 1000 kg/m3
D) 600 kg/m3

heavy mortar should have g bulk density >

52) ¥t e & s ware - off Hifoe
A el F1 N v (3o R >
LAY

A) 800 far/emefiex

B) 1500 /et

C) 1000 frrm/efiex

D) 600 fmr/efte

53) In which of the following methods of grading of 53) Pl & & B vo ¥ e 1 S9N 5o
aggregates are the samples of fine and coarse wfvemer (arex REFE) HeaATE 3 o F forg fr

aggregates passed through nine standard sieves?
A) By trail

B) By minimum voids method

C) By finesse modules method

D) By arbitrary standards

—
A) TR RS i
B) &eiTee we diie
C) THadfSw wfiHe
D) &1 uwfirT e

54) Which of the following options is not a variation

of magnetic declination?
A) Annual variation

B) Diurnal variation

C) Seasonal variation

D) Irregular variation

54) Feifag & ¥ 19 qr Aoy f0fes SR &
THI (AfRqer) 7§

A) TTe aRuse

B) fesmier afusr

C) Hister Atk

D) e ARuerT

55) Choose the option that best describes ‘Gable’.
A) The tfiangular upper part of a wall formed at the
end of a pitched roof |

B) The angle formed at the intersection of two roof
slopes is known as hip -

C) The wooden pieces which are placed horizontally

on principal rafters to carry the common rafters

55)agﬁ%ﬁ?rvﬁ%fa‘r'ﬁaa*$m@waﬁmin
A) TE TH ST F T H 91 SR 7 Aol Sudt s
B) & ¥ & geIt 3 Frery v i A Ao A R

A TATSAETE

C) WISt 6 g Wit AT et W @ fore e
TR R AR STy @ o & ' |
D) TF & FT A= b it wgraes s w fef g

D) The lower edge of a roof which are resting upon gar AT & A waflg % e

or projecting beyond the supporting walls

————
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—

owing machines can be used for 56) & & & famr weft =1 IqET FHat gt # germ

56) Which of the foll o 7
the top-soil removal?
A) Jackhammer dril A) SFgAT fger
B) Scraper B) &<
C) Shuttle car C) e FIX
D) Shredder D) %<
57) Fill in the blank with the correct option: 57) @&t fasen & fiw T &7 g Fifeg
Shuttering of beams spanning over 6m should be 6 #teT & gt S A Fefor:w___ Fger Rar
removed in ; ST =R
A) 10 days A) 10 R
B) 21 days B) 21 R+
C) 5 days C)5 2=
D) 7 days D)7 e

58) Electromagnetic waves are least affected by 58) f=r grrfia o Fwfofaa & & fFg STl &
which of the following parameters? Y FAINIEAT 51 gt 87

A) Air temperature A) 4T T 19T

B) Atmospheric pressure

B) 9T - AT
C) Vapour pressure C) arsT T F4T19 (A9 Y9X)
D) Wind speed D) gaT @t T

:
:
)
]
i
:
i
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59) Specify the name of the test done to analyze the 59) Tl R T ITART FTH W (ATH) it F=AT T
composition of loam usmg the reference image: g w27 & forg frg o afterer 57 w7 e w1

Gy
L

Ap T
- - . 5
vHEES .,

~ B -
E.» ‘r. % -9 @ @V
_ it W ' TS T
..’::'.a-:' 5 | ‘ : . ‘;-;:;;.\r‘
A) Nibble test A) Rew e
B) Ball dropping test B) ater giftiwr e ¢
C) Cohesion test C) Figad &&=
D) Consistency test D) &fEreddt T

60) Specify the name of the brick used for the image 60) femmy 7T = % for wrp=r <2 =1 4 [fde w+X
shown: |

T g
A) Splay header B) ¥t &9X
B) Splay stretcher C) =t <t
C) Dog leg D)asee 42
D) Beveled bat
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61) Consider two fluids having specific volumes as s1 61) s1 T 82 3 &7 # fAfrE s arel & T 7274} ¢
would be the relation between their fEETT F¥| 7% FoqqT Oved (AT M) (FA: d1 s

and s2. What

mass densities (d1 and d2 respectively) if s1<s2?  d2) * =1 o7 Hee g AR s1<52?

A) d1>d2 A) d1>d2

B) d1=d2 B) d1=d2

C) d1<d2 C) d1<d2

D) cannot be determined D) fRutfa 7} forar s @erar oy

62) You have to transform kinetic energy to 62) STl TSt Tt il GTEg ICTAHTIHE FHol| H q&wT B
hydrodynamic energy. Which of the following should SUXF SqRee #T # % forg smot % & & foger

you use to perform the above operation? SYGIT FTAT ATRT?
A) Displacement pump INEELZIEERED

B) Mono pump B) T U

C) Reciprocating pump C) Tfersehfdr o
D) Centrifugal pump D) ST 99

63) Identify the technique generally preferred for 63) I& T it Tg=a H< RO 3T T 7 fFFeft T
contouring rough country where ordinary levelling is &= ¥ FgR¥ & forg fmr sTar & S|t am@T qwaes

tedious and chaining is slow and inaccurate. TS (M FafenT) grar § siw AfT efiwft siw weora
A) Compass surveying (ST LE) Bt B
B) Tachometry surveying A) FITH AT
C) Plane table surveying B) W AT
D) Levelling C) W o< FaT
D) srefeiT

Page 24 of 142
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64) In a Tachometer equipped. with an anall‘ati‘c

lens  64) T S & S dfex ¥, Rrasr s 37 ar
which is used to measure distances using principles AT AT I T ITIRT g BT hrofter wferor ¥ Rigiat
of angular surveying without using a chain or = SN 3% g #1799y F Rrg BT rar g, UM
measuring tape, the additive ang multiplying ZrTesrsr (wfefea) st or Reiw (afRewrfif wiez)
constants respectively are: .

E
A) 0, 100 A) 0, 100
B) 100, 0 B) 100, 0
C)0,0 C)0,0
D) 100, 100 D) 100, 100

65) In a closed traverse with five sides, the error 65) I oITeA AT oS gad H, ST AT ¥ BIK

found from the fore bearing and back bearing of the T sic I ST o T qfE + 1° F) e A
last line is + 1°. The correction to the third line will be: # YT (FIFLT) G

A) 0°24° A) 0°24° &
B) 0°36' B) 0°36'
C) 0°48’ C) 0°48°
D) 0°12' D) 0°12

66) From the given options, identify the tool used by 66) ﬁ'q T et & &, 2¢ 9% Fiete 33T I Ty
engineers to get constant leveling each time. F o et grr s B Sy 9y SqFHIOT it

A) Tribarch TR |
B) Auto Level i A) gTAT
C) Theodolite B) SifeY Srer
D) Abney Level C) FrsireTermee
DECEREEE]
“Page 25 o144
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k with the correct option: 67) adl fasew & s & £ gfF Fforg:

tant percentage method, feft Yy Ay (R AT Fore), e widera Y (v
urvey method are TSt #ere), fRErTT fafe ffyr (R woe fue) d@k
arr wdew R @RS WS IR) W@
YA, et wor ¥ g Frr smar gl

67) Fill in the blan
Straight line method, cons
sinking fund method and quantity s
used o determing .....ooveesemessresse ;

A) Depreciation

B) Salvage value A Teag™ (3fafEeer)
C) Municipal taxes D EISENERS
D) Annuity C) ArEaTferehT FT

D) =i (Tg=et)

s, identify the 6B)Wﬁﬁﬂﬁwﬁ?ﬁ#,€?{[ﬂﬁﬁwﬁ

68) Consider the following propertie
froctive ST SHTET aATe (e TH) 3 qfad ¥ arg TRafad

one(s) that are varied with a variation in €

stress. g3l
i) Compressibility i) wrefteerar Fffaf)

ii) Shear strength ' i) s arfe (frae )

iii) Permeability i) TR RREEIEINEY

A) iand i A) i s i -
B) i and iii B) i s il

C) ii and iii C) ii il

D) i, i M i

D) i, ii and iii

69) Specify the correct formula for ‘Year's purchase’ 69) A3 fo g Rrepedt & & w99 oo ¥ g g 9
fAfde FU

A) 100/=aTST T

B) 100/ [ AT(HH 3T

C) 100/ gross income C) 100/F% A (TTH FAHH)

D) 100/ market value D) 100/aTSiT &

from the below mentioned options.
A) 100/ rate of interest

B) 100/ net annual income
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70) Identify the most accurate brick bond shown in 70
the image:

) e & ey 1w $2 due (s o) a8Far @
EEEIDH

Guees O
rmcb.
11 -
Cvoerabaer
’.Meuma-
|

LU T [T

Pioa gor 3,9, 6 coursey Piom poc 1,85 corses

T

" Piom por 3,4,6 COWes Pien for 1,45 coirsos

A) English bond

A) e afve
B) One and a half brick Flemish bond B) 2% = wifver atve
C) One and a half brick English bond C) 3% 3e %1 $Rwer afee
D) Flemish bond D) wfarer afee

71) Consider a 12 inches high slump cone having 8 71) ¢fiff uT 8 &= =1ma aTer 12 29 $¥ Wi o W =R
inches in diameter at the top. How many layers of #¥| & <% & ¥ ¥ U smusr dehic 6t et o

concrete should you place to fill this cone? @l ATeu?

A) 3 equal layers by height A) 3 IR I (F9TS 1)

B) 4 equal layers by volume B) 4 a7 9Xd (319 )

C) 3 equal layers by volume C) 3 FXET 9d (319 )

D) 8 equal layers by height D) 8 a<ra 9Xd (31a )
 Pomioria
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72) Identify the instrument shownin

the image below: 72) A% R g oy 7 fe@ ¢ IYH Y TZITA:

o L N
ey 0 ¢ A

.-
Wl A

7
e W

A) Dioptra

B) Theodolite
C) Graphometer
D) Geodimeter

73) Points A and B are 1600 m apart across @ river. 73)

The reciprocal levels measured are:

The true difference between levels Aand B would be:

AT

ﬁgAsﬂra@#ﬁaﬁmieoo_Mﬁ@wgl

wmﬁﬁm(ﬁmﬁwwﬁ:

e G B ¥ i Wt S g

A) 1.542 m A) 1.542m
B) 2.64 m B) 2.64'm
C)1.165m 'C)1.165m
D)2.49m D)2.49m
Page 28 of 144 -
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74) Consider an area having ordinates 1.5m, 2.4m, 74) 159z, 2.4%f1ex, 3.3V, 449 SfEwea a0

3.3m 4 4m. What would be the traverse area by &= 9= famme i d=15 e T & & Reawe & Raw
using Simpson's rule given that d=15?

STIRT FF i T gl a1
A) 580.5 sqm A) 580.5 Tt
B) 125sqm B) 125 TiHTex
C) 193.5sqm C) 193.5 e
D) 200 sq m D) 200 F{HTeT

75) Which of the following options correctly define the 75) ferfarfr & & @i a1 fer wgras (wfeatead)

subsidiary station? T Y 8t & F TRATR FT 82

A) Station where observations are not made, butthe A) T STgT s¥aeish FE} (3T A &, ATh &T T
angles at the station are used in triangulation VUi FT STANT grET=IASTE 2T ¥ Fam ST ¥
solles B) grétmpser Seard % e fiig

B) Control points of triangulation network C) wR=gfka figdl (¥ ufigm) W AR

C) Points to provide additional rays to intersected R0t (TSere 4oT) e F ¥ forg g
points D) = & oy Aol THTEET & T o A G Ve

D) Points close to main stations to avoid intervening o % foig
obstructions

76) Identify the option which holds true in the case of 76) I farehed it g A Sl gl REwE 9 & =ga
the depth of the neutral axis of a doubly reinforced T Y TS & Ty | L Bl

beam. A) 7fE 7 Frfeee =g ufm it = & 79 8, Fhie
A) Ifitis less than the depth of critical neutral axis, AT ATARAH T (TH) Tl gl I Hi< AT §

the concrete attains its maximum stress earlier B) afs zg Trfesrer g ufas i gas @ stfa® |,

B) If itis greater than the depth of critical neutral FhIE AT STTAHAH TS (FH) T TZS TTH H AT &
axis, the concrete attains its maximum stress earlier C) af ag ffeser =gt whwa it TS & sifds g,

C) Ifitis greater than the depth of critical neutral - T=IqT 8 (AR 1) § &I o sftra qeT (25)
axis, the steel in the tensile zone attains its maximum T Tg< STH $ é‘dT T

stress earlier D) af 7g fhfeher =gzt ufdew it Tgs & 9 §; Fhie
D) Ifitis less than the depth of critical neutral axis;  3f< T Toh AT A ATEFAR TATT (V) TTH FC &
the concrete and steel attain their maximum stresses '

simultaneously

|/
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77) Triang 77) TR aEAiE B =g g T Y T gy
ondary and tertiary triangulation depending on (gfan) ¥ sra W R CCIRE I R
er of length of the ZEUTAAT F & F uftpa fT STav 31 TR W

(W)ﬁﬁﬁwa@wwwﬁwwg;

ulation technique is classified as primary,

sec
the area it covers. The correct ord

baseline is given as:

A) Primary> Secondary > Tertiary A) SR> s> gaias
B) Secondary > Primary > Tertiary B) ATEAHF > i > qaias
C) geftae> o> BIRIEE]

C) Tertiary> Secondary> Primary
) ST @ wars (A Sor)efiT STEUTANE F T

%ﬁaaﬁ%ﬁﬂwﬁﬁaﬁWngl

D) No relation can be established b/w baseline D

length and triangulation class

78) Which among the following is true in case of 78)

e e e sz s o FfATRw A A

timber and steel shuttering? qgr 87

A) Easier to dismantle timber forms compared to A) T ® T F wret (fwa) & gl I A1
steel. Tt & @R FEAT S B

B) Steel forms absorb moisture. B) wEier & &= AT AT A Bl

C) Steel forms are stronger, durable, and have a C) =T 3 & wergE, feTss g &, X AFIT F BHTD
longer life than timber formwork and their reuses Y e & serr St grar g 3T ST QAT HEAT
are more in number. ¥ rfere gra 8l

D) Steel does not shrink and expand. D) e ¥ o Rrpea iR Hed

79) Fill in the blank with the correct option: 79) Tt faehew & fh & it g Ao :
As per 1S10719557 & 1970 code specifications, 1510719557 sf< 1970 Fre RSN F srqam, FA a7

bricks with compressive strength not less than .............. /A Y adieT aftr arelt 2w ™
kg/cm? are termed as First-class bricks. Syoft it §& egT STar

A) 140 A) 140

B) 105 B) 105 ' :
C) 70 &b

R D) 100
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80) Which of the following is typically determined by 80) Ruffaa & & #i7 ar A ¢ g AR
a subtense bar? '

Fuifa fmar s &2
A) Long distance of up to a km A) T faft e & st g
B) Short distance of up to 200m B) 200 ez 7% i Gt g
C) Very short distances of up to a few cm C) 7= ¥t o A aga w9 T
D) Very long distances of up to 100 km D) 100 f3ft T i aga =l

81) Modern EDM instruments work on the principle 81) srgfi® EDM Sushor fRraferfee & & g wrawr &

of measuring which of the following? frgia wad s 82

A)The reflected energy generated by A) faga FrhIT TG GRT Scae qRTATAA Hotl
electromagnetic waves B) T a@ ey ¥ faege g ot gy o T g

B) Total time taken by electromagnetic waves in qqg
travelling the distance C) farega gradhiar aiwt it sgfy § wiada

C)The change in the frequency of the p)wmTRy (FEfite) s wrafta g =T I
electromagnetic waves F i =T siae (e Rwdw)

D) The phase difference between the transmitted
and the reflected electromagnetic waves

82) Fill in the blanks with an appropriate option: 82) ST S & R = & i fifera:
The water cement ratio directly affects the strength of St #iHe srqua HY &7 § Fhie W & a0
the concrete mix. The typical w/c ratio for different ST FiTar g1 Fwhie & R I ¥ g f/fe wic

grades of concrete varies between to . g q * fi9 war
A) 0.4-0.6 A) 0.4-0.6
B) 0.9-1.2 B) 0.9-1.2
C)1.2-1.5 C)1.2-1.5
D) 1.5-2.0 D) 1.5-2.0
—
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83) Consider that the coefficient of passive pfeSS‘."'e ;i)_rz;ﬂw %I af% Kp= 4 @. = wfr T (%i
is given by Kp. What would be the coefficient of active g i

;Z';aisure if Kp=47 e

B) 1/4 B) 1/4

C) 4 C)4

D) 1/2 D) 1/2

ls 84)Wﬂﬁﬂﬁﬁﬁﬁmﬁ€mwmm

84) Which of the following grade of concrete fal
~ under the category of standard or medium strengt

concrete? A) M 40
A) M 40 B) M 15
B) M 15 C)M 20
C)M 20 D) M 65
D) M 65

85) Which among the following is not used for setting 85) Fwfafea & & T SUFRT THEOT feffaFs : 

out right angles? o7& T ST 872
A) Offset rods A) e |

B) Cross staff B) #i¥ &6

C) Optical square C) sifeeser &A%

D) Prism square . D) fiew =T

86) Raw material for cement manufacturing is BG)WW%WWWWﬁ@mW
quarried from which stone quarry among the Eﬁ@ﬁﬁ@rﬁq;m-rm : &2 :

following? A) FTEE
A) Granite B) e

B) Marble C) daree

C) Basalt D)

D) Limestone
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the given scenario?

A) Calcium carbide method A) $fRerrT Fatee Bfr
B) Pycnometer method - B) TR R

C) Pipette method : o)ft=fafy |

D) Oven dry method D) 3fra= g7 fRAfer

86) Identify the surveying instrument shown in the 88) ot # Ry T o s g
image: : ‘

B
=
£ I
| €
E
-
=1 1
\) 1.
A) Pegs
B) Offset rods
C) Ranging rod
D) Arrows
89) Fill in the blank with the correct option: - 89) g faehew & Rew v i ofF Fifdr ;
Instrument error that is independent of distance ST FE &t EDM & ardt ¢ oy & ey g §,
measured in EDMis called ________. B 1 i
A) Scale Error » A) T FqfE
B) Zero Error ' B) i Ffe
C) Cyclic Error : | C) ®rsfaa i
D) Non-scale Error D) iv-=et Ffe

e ————
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90) Arrange the following process 11 o 5. rETOTATET (REEHH )]
context to water purification: b- e (ﬁ_‘—@%—{)
a- Disinfection | o. STATAE (FTTAL)
b- Filtration d- T (a-:sﬁﬁ?&ﬁ)
¢- Coagulation N q;«ﬁaw{afaﬁ ( W"I%F{a?ﬁ)

d- Sedimentation

- lation
e- Flocculati 56,5 oy

A)c, e d,b,a B)e, c d b, @
B)e,c,d,b,a C)a,b,c.d e
C)a,b,c,d e D)c,e b, d a

D)c,e, b,d,a

91) Fill in the blank with the correct option: 91) Tgt e & e T H ‘{ﬁf Hiforg :
The calculation of sinking fund depends on the life of Rif&T %S $t TurET wae & siae (RS wEy) ﬁ
the building @Nd ...ccoceeereriurimmieniennees Of the FATH .evvveeereeemnnnnereeennnns 9T AT Fai €
building.
A) SR S A
A) Cost of land B) TTerarst éml
B) Salvage value C) mife a?{ /4
C) Market value D) By QF{
D) Scrap value
92) Identify the instrument that is proficient in qivi ' —
the rate of flow as well as the total‘:lowc.;Ient "o ;2;_3:;2 RIS AR AR (33 117 ‘m
A) Orifice meter A) st RS (@Eﬂ' A I H P B
B) Lobed impeller flow meter B) sirire e
C) Peizo flow meter ' Rk A e
D) Anemometer C) it i e ‘
D) Tfrinfiey P

Page 34 of 144
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93) Match the following in context of the parts of
prismatic compass.

a. Graduation circle 1. To damp the oscillation of

the needle before taking a reading and to bring it to
rest quickly the light
b. Prism 2. An aluminium graduated ring
marked with 0 degrees to 360 degrees to measure all
possible bearing of lines

c. Object vane 3. Used to read graduation on
the ring and to take an exact reading by compass

d. Spring break 4. Carrying horsehair or black
thin wire to sight the object in line with the object
sight.

A) a-2, b-3, c-4, d-1

B) a-2, b-3, c-1, d-4

C) a-3, b-2, c-4, d-1

D) a-2, b-4, ¢-3, d-1

93) fieefr ST ¥ Fw ot F @ § Amfeied 7
e =

a. IqUEr i 1. T & T g€ F o
T H FEAT AT T TV FedT A ATt § A

b. fSew 2. gt F gt e e
Fr 7T ¥ g 0 Rt & 360 Rt ¥ vy Rfea @@
TegHi AT e o

c. s o 3. o7 = e G F
ST T i QT A % g e R STaT §)
d. ST 36 4. SiteFe |TEE F AT IEG B
@ ¥ forT IR 91 FTe gae I o ST

A) a-2, b-3, c-4, d-1

B) a-2, b-3, c-1, d-4

C) a-3, b-2, c-4, d-1

D) a-2, b-4, ¢-3, d-1

9

=

Specify the name of the roof shown in the image:

ENNNSNNNNNNRNNY

A) Couple roof
B) Lean-to roof
C) Single roof

D) Collar beam roof

94) =1 # fRETT 71U B (¥%) 1 W [AfEE :4

—
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ements are correct as

95) Which of the following stat

per the methods of measurements?

a. Exact girth is considered in measuremen

painting of chaukhats, edges, chocks etc.

b. Uneven surfaces are converted to equivalent plain

area by multiplying the flat measured area by a

multiplying factor.
c. Pipes used in sanitary and water supply works aré
measured in running metre or feet.

d. Manholes of depth ranging from 7'-14' are grou

under ‘Shallow’ category.

ped

A) a &d only
B) b & d only
C)b & conly
D) a & conly

96) Match the following in the context of paints.

a. Bleeding 1. It is the swelling of the paint film

generally caused by moisture or volatile substances

b. Bittiness 2. The diffusion of coloured material

into the upper coat from the under coat

c. Blistering 3. The appearance of a whitish

substance on a surface of varnish or enamel.
d. Biooming 4. A condition in which small particles
project above the surfaces of the film of paint or

varnish yielding a rough surface.

A) a-4, b-2, c-1, d-3
B) a-2, b-4, c-3, d-1
C)a-1, b-4, c-2, d-3
D) a-2, b-4, c-1, d-3

e

—

gs)mﬁﬁ@ﬁa‘mi“ EEELL SO

zﬁwﬁz‘{muﬁzﬁ‘mmgl
d, 7'-14'ﬁﬁmaﬁﬁ“@“ﬁ'§ﬁ’}“ﬁ%m

e P AT

A) Fae a A< d
B) ¥l b i d
C) ¥ae b 3T ¢
D) ¥awa AR C

QG)ﬁ%WﬁWWﬁWWI

a. sAIteT 1.ugammaﬁ1qtaﬁmamﬁﬁﬂqﬂ’ﬁ
3 areor e e i gere (=) B

o BT 2, % e & gy e & ST
c. fmmefir 3, afefer ar g ot wag T OT
garyf Y Iuteufa

d. = 4T A RafX
;ﬁ%ﬁmﬁm%wq&ﬁqﬁﬁmw

|

T

it A AT T
W

A) a-4, b-2, c-1, d-3 .
B) a-2, b-4, ¢c-3, d-1
C) a-1, b4, c-2, d-3
D) a-2, b4, c-1, d-3
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97) Consider the given statements, identify the ones 97) fau U ot ux A w1

that cannot be executed with the help of a typical 37 Fo} 6t TgA FE foeg @aeror HOGTemL |
theodolite in surveying. RS £ & e 8t Rrar ST & 1

i) Measuring horizontal and vertical angles

i) &TIST 3 Featy= o Y 7T
i) Measuring horizontal distances ii) &St T T
iii) Determining the area of ground i) ST 3 Srrwer T Frerior

iv) Locating points on lines iv) et ax feigelt e s AT

A) ii and iv A) i 3T iv
B) iand iv B) i 3fiX iv
C) i and iii C) i s iii
D) ii and iii D) ii 37 iii

98) To determine the compacting factor of concrete, 98) #fie % A HICH (FIFAT Heex) & Raifia
which among the following formula is used during F== ¥ R T Thewt ¥ S R & T &g

standard tests? T T ITIRT v St 82

If Weight of partially compacted concrete- A i A(TAF T F Tl Fohle T a9 - A
& Weight of fully compacted concrete - B ' & T ¥ § T dwhie 7 a9 - B

A) A*B A) A*B

B) A/B B) AB

C) A+B ' C) A+B

D) A-B D) A-B

99) Which among the following is helpful'in reducing 99) RIS & & FI srsfier aut iy 77 Frey F EERED

acid rain? 87

A) Gasification | A e

B) Using coal for power generation  B) Rl weTET ¥ forT ey 7 s

C) Using high sulphur coal C) 3F TTH FA HT ITAT

D) Sulfurization of fuel gases D) & #4 #T FemrEsierT )
?9937 of 144
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: T START A5
< is used in estimating 100) ﬁ'ﬂﬁ%ﬂﬁamw o) ¥ B ﬁmTtRR ¢
100) Which of the following units is used ! A<RE. ﬁ%w(qﬁzﬁ S Y
R.C.C. & R.B. work on site? ' 0 ,
A) sq. m. 8)
B) cu. m. _
a7t e

C) sq. ft. C)
D) ft D) 12
101) Choose the correct option that defines’ 101) wg e kS U RN (@E\‘ﬁﬁﬁ)' El)
Obsolescence. e FT & B

g, T 1 A (Refiew) fhg faam dwm §

a. The value at the end of the utility period of the
structure without being dismantled.
b. The value of dismantled materials.

c. The value which can be obtained at any particular ¢. 9& T St fsfY & forg W@ ST T g I it

time from the open market if put for sale. A T 9T ST AT ST &R 7
d. The decrease in value of property when it goes out d. Hufxr & & 3 et o1 g et AT fRstre QI .
of date in style or design. STt gl i
A) a A)a

B) b B) b

C)e C)c

D)d D) d

e e

102) Consider a clay deposit having a thicknes f-‘ém*l'
s of 102) T% gt ¥ M (Rurfe) = =R 33

15cm and a void ratio of 1. After going under the Wrers 15 ¥} o e ( : m—ﬁaaﬁ
AT 1 ) Jewdie H

settlement, its final void ratio becomes 0.4. Which of % aTe, =y sifan
the following option gives the correct value for its final # 3 qﬁ—,r T TS ST 0.4 &Y AT & ffafed
e gy

thickness? S HrarE (e W)—ﬁ f
A) 2.4 cm T?:Ta: ( L
B) 0.24 cm B 0'24 e
C)4.5cm :

D) 0.45 cm C) 4.5 fy
D) 0.45 &t
Page 38 of 144 :
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103) Let the force is given by F and displacement is 103) 7T 3 3 a1 F gray e fAeamesr D grer f&ar st
given by D. If the values of force and length are &1 af¥ o= ¥ix WS ¥ WY Fr 3@ wwIC GenfEa AT

modified such that:

F=2F and D =3D

What would be the final value of energy in such a
scenario?

A) 2F/3D
B) 3D/2F
C) 6FD

D) 1/6FD

SIGIECRED
F=2FskD=3D
T Ry # st o sifaer Wiy (Frgerer 3e) 719 F

A) 2F/3D
B) 3D/2F
C) 6FD

MY 1/AFD

104) Which unit in total station is used for the
computation of data collected?

A) Data collector
B) EDM
C) Storage system

D) Microprocessor

104)qa¢rﬁmw%€rﬁmm%ﬁrqmémqﬁm
THTS T UG FohaT AT &7

A) ST FAF

B) EDM

C) =rw R

D) ATSHITIEET ’

105) You wish to check the quality of timber with the
help of sound. Which of the following way should you

use for such a scenario?

105) a7 eafe &t agraar § aast (femaw) i qura=r i
ST AT 918 gl UHt Rufa F Pro s R § 9 fe
fafer =1 ST HaT AiRe?

A) Timber struck by hammer A) 1% & Y (fova) = e s 7
B) Two timber pieces struck together B) @&st (R¥eR) & 31 st o g & T
C) Timber tapped by steel square C) e 1T g0 a1 (fvaw) &7 Srgwr (3
D) Timber knocked by chisel D) &rft & vt () W =ive e
m of 144
IS, s S SR R T e )
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106) An overhead tank of capacity 50,
imina
n a society. What will bé the prelimi ry _mﬁvﬁﬂﬁ"’ﬁamﬂ' g7

r litre cost is £ 37

be built i
estimate of the project if the pe

A)  15,00,000 ‘
- ~ B)1,00000%
B) % 1,00,000 |
0%
C) % 75000 C) 7500
' £
D) % 1,50,000 D) 1,50,000

107) Which of the following options correctly depicts 1
the deflection angle in traverse? | (eI grer) SHER TLTaT 87
A) 1800 included angle A) 180° - zrgse T
B) 360° - included angle B) 3600 - TFI=S e /
C) Included angle * 180° C) TFIES e + 180° ‘
D) g3 T + 360°

D) Included angle=+ 360°

108) Which among the following is an oxygenated

solvent used in the manufacturing of coatings?

A) Esters A) TEI

B) Nitroparaffins B) ATESIAA e

C) Turpentine C) ardi 4
D) Cresols D) T | '

109) Two points P and Q located on a map have the 109) TR T Rug o et P s Q¥ ﬁqﬁﬁﬂ g

following coordinates: e & ' :
Latitude | +30m +iom | .
Departure +40m -10m o Zi?j :ig iz ;?;ﬁj |

Determine the length of PQ. PQ &t waT s SifT

A) 60m A) 60 e ” '

B) 50 m . - B) 50

C) 34.89m ' | |

D) 52.60m ‘ B Hrex

, D) 52.60 Hiex
“Page 40 of 144 | /
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110) You have given a soil sample with Poisson's
ratio of 0.6. What would be the coefficient of earth

pressure at rest in the given soil by applying the
theory of elasticity?

A) 1
B) 1.5
C)0.7
D) 1.2

110)mtﬁ%?l=r%0.6%wmaﬁﬁ§r$rﬂtmﬁm
& TR ¥ Rgfe # anp wr & 4 0 Py

111) Match the following classification of glasses with
their specific uses:

a. Soda lme glass 1. Used in the
manufacturing of glass articles which have to
withstand high temperatures.

b. Potash lime glass 2. Used in the manufacturing
of artificial gems, electric bulbs, lenses, Prisms, etc.
c. Potash lead glass 3. Used in the manufacturing
of glass tubes, laboratory apparatus, plate glass,
window panels, etc.
d. Common glass 4. Used in the manufacturing

of medicine bottles

A) a-1, b-3, ¢c-2, d-4
B) a-3, b-1, c-2, d-4
C) a-3, b-1, ¢4, d-2
D) a-1, b-3, c-4, d-2

1) %9 () & et sfteor 51 s ff
ST & | gAer iR

a, HIST 915/ ™M@ 1. 39 Fi9 ¥ TEE F wwr
q wgeh v I ATTH ST g2 aT 2

b. TeTer =W W 2. FEAW @, Aot F T, w4,
s, iR & fator # wgem

C.UETA AT TA 3. i+ ¥ =, TARTLTET STHT,
we o, Resht ¥ dwe, arfy ¥ i & Sodn R
ST 8 ,
d. 3T i 4. za1 Ft At & famtor ¥ s

A) a-1, b-3, c-2, d-4
B) a-3, b-1, ¢-2, d-4
C) a-3, b-1, c-4, d-2
D) a-1, b-3, c-4, d-2

—
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i +h 112) ; . _
112) Consider the following errors assgcuated wit ) Qﬁarz%’aﬁf‘ﬂ i T ( mw |
EDM: e St wew Had Mﬁ'ﬁ

1) Precise centering at the
nin meteorological v

2) Error due to variatio

like temperature, pressure, humidity-

3) Errors associated with pmntinQISIthing of a o

reflector.
Which of the aforementione

as atmospheric errors? B) Faer 2
A) Only 1 and 2 C)amrnﬂm z
D) Fa 3

B) Only 2
C) Only 1 and 3
D) Only 3

.
road 113) TH 2000 Iﬁa‘{ﬁﬁ'ﬁ?éﬁﬁ?mﬂﬁmﬁ%i

ﬁ4:ﬁﬁaﬁs&aﬂ15aﬁﬁﬁﬁﬁgﬁzoﬁaﬁam_

a 2000 m long cement concrete

113) Consider
e sub-base

4 m wide and 5 cm thick covering th

that is
of 20 cm deep gravel. What would be the value of a3 S-S T FAL FdT 8l Fre Fee § i A
box cutting in road crust? T | ST A |
A) 1000 m3 A) 1000 =THIeT
B) 500 m® B) 500 =X
C) 2000 m3 C) 2000 sFHIET
D) 1500 m3 D) 1500 ®rHIeT
114) Consider the given pairs: 114) Ry g T’ﬁ . ] , .
Identify the one that is matched correctly. 1 o Y ﬁﬁq‘a :ﬁ'f j;%l;f. N
A) Check valve — To maintain the flow of water in A) X 9157 - aoft et & + 3 arft % mqﬂ’ﬂ :
pipes, in all directions. AT T & R '
| i
B) Surge arrestor - Control of water hammer in pi
pipe B) TS X - A )
- . et L
1 A=) |

C) Air valve—To drain or empty the 'pi e line i
p section. C) TIX AT+ - ey aﬁsﬁﬁﬁqq"@m
D) Scour valve — To release the accumulated air in FA F ﬁ-‘rgq

pipelines. D) =i A
AT - et A A A

/
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115) Total Station can directly be used to calculate:
1) Horizontal angles

2) Vertical angles

3) pH of the water

4) Sloping distances

5) Level of PM2.5 in air

Which of the above statements are correct?

A) 1,2 and 5 only
B) 1, 2, and 3 only
C) 2, 3and 4 only
D) 1,2 and 4 only

115) 1T R T IR S 7T F g B«
AT &:

1) &fasT or

2) aad For

3) T+ T pH

4) T gl
5) gaT1 ¥ PM2.5 7 @<
T H F B T AT gy 52

A) Faw 1, 2 3K 5
B) #Fa 1, 2, 3T 3
C) #%a« 2, 33T 4
D) Fae 1, 23X 4 <

116) From the given options, identify the statement
that accurately describes the total efficiency of a
centrifugal pump.

A) The ratio of manometric head to the energy

supplied by the impeller per Newton of water

B) The ratio of energy supplied to the pump to the
energy available at the impeller

C) The ratio of energy is available at the impeller to

the energy lost

D) The ratio of actual work done by the pump to the

energy supplied to the pump by the prime mover

————

116) T T foiedt # F 37 Fo Y gg== ¢ ST T

FETRITT G T F 2ETaT (S1E QRBTAIGHT) FT A

U FLAT 2

A)ﬁ?ﬁﬁ@?ﬁ%@ﬁtfﬂmmuﬁwﬁ%w%ﬁq
A Dl TS St HT AT |

B) 9T T A it 1 it o= S F Iqerew St AT
SREIN)

C) TFIX H ITe7oer Tt Sii< Wt gt e (srfee i)
T ST

D) BT {3 1 weregerer 7 s st e g v
B T Fit T St 7 s

Pana A2 ~f 1424
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)m@gw-ﬁmmﬁ%@ﬁ

2 7 - %
pich of 1" . 5 o3 7 [T AT TRy
the load factor. W Fy A Tt
117) You have to calculate the esultin hﬁ

the following options would help you

s S T |
A)W%W@WWWW%
B)W%W@TW'W'" AT HT Sy
ey e S S R R Ay oy,
B) Ratio of theoretical design strength to the C) =fehe e i N R -
minimum load D)ﬁ?ﬂéw e FRC AT

C) Ratio of theoretical design strength to the reserve

capacity

such a scenario? _
i imu
A) Ratio of theoretical design strength to max

load

D) Ratio of reserve capacity to the installed capacity

——

118) Given a container with-fluid of volume 2 liters. 118) 2 fte i ATAT % %9 * AT U H< 134T T 5
When that container is weighed, it was found to be 3 9 9T F1 arer T a7 ag 3 N 9T 4T 59 7 fiftw
N. What would be the specific volume of the liquid? s (SRR Fiegw) 1T F2

Assuming the weight of the container to be negligible. #ew< 3 o T T 0T HT|

A) 6.54 I/kg A) 6.54 e/

B) 5.25 l/kg B) 5.25 wfex/fm

C) 0.61 I/kg C) 0.61 sfiex/far

D) 1.63 i/kg D) 1.63 sfra/fRwpy

119) The magnetic bearing of a lin i 9 pre
the fiecl.i‘nation is §5° Wezt, then :v;::; Ii: St;?]: frulef 152?1')[;:;@;;\8 b sto-E ! e
bearing? AL (§) At T F

A) S30°E ' A S0

I | B) A30°wy .

C) S20°E C) S20°8

D) A20°W D) A20°wy
Page 44 of 144
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120) Match the following types of formworks with 120
their minimum required striking period. T fiftae % ary femd)

a. 16-24 hours 1. Soffit formwoork to'slabs a. 16-24 52 1, @7 ¥F frv gifte widas

b. 7 days 2 Props to beams and arches b. 7 fr 2. diwsic 6 diex o e gr e B R

spanning up to 6m .

Ll L F RN ——_

c. 14 days 3. Vertical formwork to columns, ¢. 14 f 3. e, Tari ok fiw F g deaa
walls and beams e F e ' FigTE '
d.3days - .'4. Props fovrs;'lab's.Sbanr_lingAUptc') d. 3R 4. 4.5 T fiex T ofers e w9 F T

A) a-3, b2, ¢4, d-1
B) a-4, b-3, c-2, d-1
C)a-3,b4,c-2,d1 "

A) a-3, b-2, c-4, d-1
B) a-4, b-3, ¢-2, d-1
o | C) a-3, b-4, c-2, d-1
D)a-3,b-4,c1,d2 - ’3 TR o - D)as, b-4, c-1, d-2

121) Identify the brick bond shown in the image: 120) R # R@Tq 1¢ S doe (e aive) 7 8=

2

S 0T 00N Sl U W

A) Garden wall SR A T | ]
B) Dutch g BEEE e L ‘

C) Raking - o ot

D) Zigzag : _ B D) v | .

122) Fill in the blank with the correct option: .+ 122) W&t faer & R vt 1 97 B .
is most suitable for quarrying small, thin Tl ¥ G, Ta MR i o S
and regular blocks of ‘stc}h'es from ‘rocks, such as 3TEE SR T F Ira ¥ R T W%’I

granite and gneiss. L B ‘ N A) ‘aﬁ,:q'q - . | |
A) Wedging . SRR o . B) a‘lﬁ‘w B N o
B) Boring s e |

C) Heating . ER .' " D) %ﬁﬁmtrseﬁw

D) Channeling machines

—
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%TWZOOW%OOMS?R%*, _

. 123) HiAA :
123) Given the size of column as 200mm 400mm 7 ( sarferdt) 150 KN W%Wﬁﬁm
and soil bearing capacity of 150kN/m?. Assuming the T&7 SRIICRY

; 3 5 T AT By

- FHre I M20 Fe 415 3iX 2
de of M20 and Fe 415 and total weight 7T 2l ]

concrete grade O o |

as 330 kN, calculate the area of footing.

A) 2.42 m? A) 2.42 FHEL
B) 3.42 m? | B) 3.42 aHIEX
C) 4.24 m? C)-4.28 |f{Hiey
D) 3.06 m? DY'3.06 FHIEX

————

124) The whole circle bearings of lines A8 and BC 124) T@T AB ¥t BC & |qu g ?ﬁﬂﬁw. @ afdy
are 20°15' and 100°30'. What is the included angle faarf&r) 20°15' i< 100°30" €1 T@T=H AB Sl BC Hdiy
ABC between the lines ABand BC? qftaferg ST (s=RIeS Tier) ABC SITd &<l

A) 90°15' A) 90°15'
B) 99°45' B) 99°45'
C) 229°45' AT
D) 100°15' ol coig

125) If the spacing of cross-hairs in a stadia 125) % Tnfier %

diaphragm of a tachomet: 12 d 7 # ;ﬁ‘fa'-g'q'(ﬁ'{ﬁ
ometer is 12mm and th foreft _
length of the object glass is 24cm. th s € AR siteSree vorrey it Freher waTS 24 TR, A
IS 24cm, then multiplying iﬁ"ﬁﬁ%‘rm R . N

constant of the tachometer is: A) 20 (wicewmfiT Fiwe) &

A) 20

B) 100 =100

C

C) 0.005 ) 0.005

D) 200 D) 200
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ANSWER KEY

1. Ans.(c) 2. Ans.(c) 3. Ans.(d) 4. Ans.(a) 5. Ans.(d)

6. Ans.(c) 7. Ans.(c) 8. Ans.(d) 9. Ans.(a) 10. Ans.(b)
11. Ans.(d) 12. Ans.(b) 13. Ans.(d) 14. Ans.(d) 15. Ans.(b)
16. Ans.(a) 17. Ans.(c) 18. Ans.(a) 19. Ans.(a) 20. Ans.(d)
21. Ans.(d) 22.Ans.(a) 23. Ans.(b) 24. Ans.(d) 25. Ans.(d)
26. Ans.(d) 27. Ans.(b) 28. Ans.(b) 29. Ans.(c) 30. Ans.(c)
31. Ans.(d) 32. Ans.(c) 33. Ans.(a) 34. Ans.(b) 35. Ans.(a)
36. Ans.(d) 37. Ans.(b) 38. Ans.(d) 39. Ans.(b) 40. Ans.(c)
41. Ans.(d) 42. Ans.(b) 43. Ans.(d) 44, Ans.(a) 45. Ans.(c)
46. Ans.(b) 47. Ans.(c) 48. Ans.(c) 49. Ans.(b) 50. Ans.(a)
51. Ans.(c) 52. Ans.(b) 53. Ans.(c) 54. Ans.(c) 55. Ans.(a)
56. Ans.(b) 57. Ans.(b) 58. Ans.(d) 59. Ans.(b) 60. Ans.(a)
61. Ans.(a) 62. Ans.(d) 63. Ans.(b) 64. Ans.(a) 65. Ans.(b)
66. Ans.(b) 67.Ans.(a) 68. Ans.(d) 69. Ans.(a) 70. Ans.(b)
71. Ans.(a) 72. Ans.(a) 73. Ans.(c) 74. Ans.(b) 75. Ans.(c)
76. Ans.(b) 77.Ans.(a) 78. Ans.(c) 79. Ans.(b) 80. Ans.(b)
81. Ans.(d) 82. Ans.(a) 83. Ans.(b) 84. Ans.(a) 85. Ans.(a)
86. Ans.(d) 87. Ans.(c) 88. Ans.(d) 89. Ans.(c) 90. Ans.(a)
91. Ans.(d) 92. Ans.(b) 93. Ans.(a) 94. Ans.(b) 95. Ans.(c)
96. Ans.(d) 97. Ans.(d) 98. Ans.(b) 99. Ans.(d) 100. Ans.(b)
101. Ans.(d) 102. Ans.(c) 103. Ans.(c) 104. Ans.(d) 105. Ans.(b)
106. Ans.(d) 107. Ans.(a) 108. Ans.(a) 109. Ans.(d) 110. Ans.(b)
111. Ans.(b) 112. Ans.(b) 113. Ans.(c) 114. Ans.(b) 115. Ans.(d)
116. Ans.(d) 117. Ans.(a) 118. Ans.(a) 119. Ans.(a) 120. Ans.(c)
121. Ans.(b) 122. Ans.(c) 123. Ans.(a) 124. Ans.(b) 125. Ans.(a)
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